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fpi¢12b0
2.1 1ox=TATE-TT8AUE X0E» I - cEOUAY«TP2TEYE "3y - CATODEPA+£0+
Ug0” ueN1E-VcE YOxCETIED v
ETOTXUTRYEpAuGNL - 118 -10VOA15v
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+ G E3-30EUAPPAY«Tb2TEY EAULYOAE+YpuAOAYADOES» | j B0APOHOROECH < IPZTEYE-2¢2»0aTTx A0« TP2TEY
16YpTA»00UETOTRAE (330 T Vo Lax+16Y%pENEY2TEYUACE : 6TAEYpAUODDEGLax+ { K03a0U IP2TEY T8YpTApALax+
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LIOAQTY " Op HY¥:500%0 LIOAQTY " Op L10ATY O
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2.3 uclgno

2.3.1 CyT £+2-0

2.3.1.1 OUTE%OucO” peNroT1ax=TATEE " xOE» - ¢£0 - TT8AUpApCTODOL "3y - CATODENA=£O
PARAMETER TEST CONDITIONSt MIN TYP MAX UNIT
ViK Input clamp voltage lj= 18 mA 15 \4
Vo Output voltage 10=0 0 6 \2
IVopil Differential output voltage 10=0 15 3.6 6 \2
! RL=100 W, See Figure 1 Y2vop1 v
[Vopzl  Differential output voltage or2
RL=54W, See Figure 1 15 25 5 \%
VoD3 Differential output voltage See Note 4 15 5 \4
DIVoo! Change in magnitude of differential output +02 v
voltage
Voc Common-mode output Voltage RL=54Wor100W, See Figurel 113 A
Change in magnitude of common-mode +
DVocl output voltage 02 v
i Vpo=12V 1
o Output current Output disabled, I o mA
See Note 3 IVO=—7V 0.8
IH High-level input current V=24V 20 m
IiL Low-level input current V=04V 400 m
Vo=-7V 250
o Vo=0 150
los Short-circuit output current mA
Vo= Vee 250
Vo=12V 250
) Supol ¢ (otal Yage) No load I Outputs enabled 42 70 mA
upply current ackage loa
cc i paciad [outputs disabled % 3

* UADTOUEGV=5V ¢ T,=25 j&E+UAEYOU; £

**% A Voo | T e ] Vec] - O2ECVacCTVoc - UTEALE» Ag £-ElI - CEGOUEAEE ™ O, RUCAY+A0AUTUCERE | £

*xx 1001 | OOPELE-XTDj UAVorEC1/ 2V »02VOPPALT , ROR £
xCET3E£CUNANS 1 +8xYRS-4851%3 . 5£~28E0TE28A: 2 £

T A=CTHOEOR+TEpA; £

2.3.1.2 Vi=5VjCtR=110k!, j¢T.=25j@E+pAtox+1gDO£ "3y -CATODENA+£0

PARAMETER TEST CONDITIONS MIN  TYP MAX | UNIT
t Differential-output delay time 15 22 ns
4(oD) - - L y — RL =54 W, See Figure 3
tyop) Differential-output transition time 20 30 ns
tpzH Output enable time to high level See Figure 4 85 120 ns
tpzL Output enable time to low level See Figure 5 40 60 ns
tPHZ Output disable time from high level See Figure 4 150 250 ns
tpLz Output disable time from low level See Figure 5 20 30 ns
2.3.1.3  -0°A1000+i
+YEy%YEO282TEY0EE IA/TIA-422-BOTRS-485 - 0CApATO00 @ TUECTA+ TEUEY £
DATA SHEET PARAMETER EIA/TIA-422-B RS-485
Vo Voa, Vob Voa, Vob
IVopil Vo Vo
Vop2| Vt (R =100 W) Vit (RL=54W)
V¢ (Test Termination
V,
Vopsl Measurement 2)
DIVopl [TVl = Vil | [TVe— il |
Voc [Vosl [Vosl
DIVocl [Vos— Vosl [Vos— Vosl
los lIsal, lspl
[e] lIxal: I'xpl lia: lib
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2.3.2

WOEOE+2; -0
2.3.2.1 OUIRuouAL2ALEAEE UGN jepcO ueN200%° Lax=TATEE x0E» I - ¢£0 - T TSAUNANCTOROE "3y - CAT

OPEpA-£0
PARAMETER TEST CONDITIONS MIN TYPt MAX | UNIT
ViT+ Positive-going input threshold voltage Vo =27V, lo==0.4mA 0.2 \
ViT- Negative-going input threshold voltage Vo=05V, lp=8mA 0.2* \
Vhys Input hysteresis voltage (V|1 + =V|T=) 50 mv
ViK Enable Input clamp voltage lj=-18 mA 15 \%
. V|p =200 mvV, loH = —400 mA,
V High- X 2.7
OH igh-level output voltage See Figure 2 \
g V|p =—200 mv, loL =8 mA,
VoL Low-level output voltage See Figure 2 045 \
loz High-impedance-state output current Vp=04Vto24V +20 m
- Other input=0V, V=12V 1
1] Line input current See Note 5 V=7V 08 mA
IIH High-level enable input current V=27V 20 m
L Low-level enable input current ViL=0.4V 100 m
n Input resistance V=12V 12 kw
los Short-circuit output current 15 85 mA
| Sunpl ¢ (total kage) No load Outputs enabled 42 55 A
u current (total package; o loa m
cc PPl P 9 Outputs disabled 26 35

+ EUOPpADTOUECV.=5V | ¢T,=25 j@E+pAEYOp; £

* QUYEY%YEO240p%6T012ALEAEE N1 TAATPUGN L UGAHELOA UEYOYT "£-00" EOVAODY%ID j LAOYE ", (i, O£ CuAli«

TPO£TE%T2XTR{Opi £

x¢ET5£C0AEEO0AOUETUGOTTTUGAKOOCE: 6 £NT

A16Yp2TYOE IA+EXYRS-485 £

2.3.2.2 Ve=5Vj¢C=15pF¢T,=25j2E+pA1ax=10p0

PARAMETER TEST CONDITIONS MIN TYP MAX | UNIT
t Propagation delay time, low- to high-level output § 21 35 ns
Lo = " Y - - g £ Vip=0to 3V, See Figure 6
tpyL Propagation delay time, high- to low-level output 23 35 ns
tpzH  Output enable time to high level . 10 20 ns
- See Figure 7
tpzL  Output enable time to low level 12 20 ns
tpHqz  Output disable time from high level , 20 35 ns
" - See Figure 7
tpLz  Output disable time from low level 17 25 ns
2.4 21Ey2aA;xEAI
A T
ViD
- ? VOH
+loL -10H
VoL
L L L1
W1 Gy A+VoPlVe 142 HOEOA+VorP Vo
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i Input
CL =50 pF
RL =54 W (see Note B)
Generator 50W Output

(see Note A) i

v v Output o f.

3V p! 5(le/0 | 1
= T N R 25V
t(op) » < —» <4 tyOoD)
TEST CIRCUIT

VOLTAGE WAVEFORMS
143  Cyf A+2aF0ucA-°TucN12pT

QOutput

OVor3V

! i ov
! i 05V
t —4p |
RL =110W PZH T ; ) Y. vou

Generator
(see Note A)

QOutput

tpHz — <« Voff® 0V
TEST CIRCUIT VOLTAGE WAVEFORMS
%4 Cyf A+2aF0ucA-°TucN12pT

5V 3v
Input

RL = 110W f 15V \15V oy

Output
3VoroVv tpzL —‘—N
Generator

(see Note A) Output

TEST CIRCUIT VOLTAGE WAVEFORMS
145 Cyf A+2aF0ucA-°TucN12pT

xCETECA. EAEEAG3A0E%RODTAADTEDOUAGENE-TA2OE»PRR j UIMHZE~50%0Y,: 0+EEt, jUBNs, trjUBns, Zo=50!_if

B. C.oUA T%I-°TUDYRUCEY £
3V
lnput_/l.s Y, Sk 5V
ov

Generator
(see Note A)

1.
CL=15pF tPLH —4 > tpHL
= (see Note B) |

v
oV | \ OH
- Output 1.3V \ 13V
VoL

TEST CIRCUIT

VOLTAGE WAVEFORMS
146  %OEOA+24E0uCA - °TucN12"bT
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15V s1

15v —0

CL =15pF
(see Note B)

Generator
(see Note A) so0w
e TEST CIRCUIT
3V 3V
| t
npu 15V Input 15V
Slto 1.5V
Slto 1.5V
B oV gg gI%esr;d 0V S2 Closed
tpzH —P € S3 Open

0

Slto 15V Slto—15V
15V S2 Closed S2 Closed
S3 Closed S3 Closed

tpLz —4—'

-\ VOH
Output % 15V o
v utput
3V
oV
OH

v |\ ~13V
----------------- / Output ’
Output * P .

13V

VOLTAGE WAVEFORMS
1%7  %OEOA+2AEOUCA-CTugN127"pl
xCETA. EaE€A63a0E%RODTAADIEBOUARGEGE=T42O£OPRR | UIMHZE-50%0%; O+EE-t, jUNS, triU6ns, Z0=50}, if
B. CoUA T4l -OTYDIRUGEY £

2.5 pabll1gpocuIR
5

T T
Vec =5V Vce=5V

45 Ta =25°C ] 45 [~ Tp=25%C
> >
% 4 ~ é.), 4 /
s 35 £ 35
z ~— S /
3 3 ‘g 3
§ 2.5 ™ g 25 /
g o : ,
% 15 § 15 ,}
! | —
5 1 a 1
> > ~
05 05
0 0 20 40 60 80 100 120 S 20 40 60 80 100 120
loH — High-Level Output Current — mA loL— Low-Level Output Current = mA
148 Cyf £+, BuckhEa3oucht 149 Gy F+ulpcksEa3oucht
08, RuGE%EA3EUcA+pATET OeulucrsEa38ucA+pATE T
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VOH - High-Level Output Voltage — V

VoL - Low-Level Output Voltage — V

Vcc=5V

35

Ta =25°C

3

25

2

15

\

1

Vop — Differential Output Voltage — V

\

0.5

\

0

0

10 20

30 40 50 60 70 80 90 100
lo— Output Current — mA

1410 CyT £+2T-0E&36ucN108E436ucA+UALETY

ST 1 5 I —
45 Vip=0.2V 457VCC=5V
2| Ta=25°C s V|p = 200 mV
4 I 41— loH="440MmA
S
35 S 35
N s f
3 \\ 5— 3
2.5 N 3 25
\\\‘ VeC =525V -
=
2
15 — Vee =475V V\ _zfm 1.5
|
1 N N T 1
AN 2
0.5 N 0.5
Q
0 k 0
0 -5 -10-15 —20 —25 —30 -35 —40 —45-50 40 20 0 -20 -40 -60 -80 -100 —120

loH— High-Level Output Current — mA

111 %OEOE+ RuckuEA36ucN108

. BUCAHEA3OUCA+PALETY

0.6 T
Vcc=5V

Ta =25°C
0.5 /

e

e

0.4

0.3 /

0.2 /

0.1

0 -5 -10 -15 -20 -25 -30
loL— Low-Level Output Current — mA

1413  WOEOE-uTpcArEA3ucN108

UTpCAREA3OUGA+PALET

T~ Free-Air Temperature — °C
1412  $%OEOE+ RuckhEa3ouchLoe
TAEE "xOE» 1" - GEOPALZT

0.6 T T
Vec=5V
S V|p =—200 mV
| 05 loL=8mA
<
&
S o4
5
g
5 —
0 o3 —
©
g 0.2
3
[
o}
> 0.1

0
40 20 0O -20 -40 -60 -80 —-100 -120
Ta— Free-Air Temperature — °C
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T T 6 T T T T
Vip=0.2V _ Vp= 02V
Load =8 kWto GND vec=s525v Load =1 kWto Ve
Ta =25°C 5 L Ta=25°C
4 Vee =5.25 V—
|> I I T Vcc =475V Vec=5V
N | 4
;if’ 3 Vec=5V — Vec =475V ;if’
S S
5 5 3
g =
s :
2
= =
1 1
0 0
0 -05 -1 -15 -2 -25 -3 0 -0.5 -1 -15 -2 -2.5 -3
V|- Enable Voltage — V V| — Enable Voltage — V
1415  %OEOK+E&36ucN108E2AUpcRLpATE T 1416  wOEOK+E&36ucN108EAUpcRLpATE T
EyicO! OAXEAT
SN65176Bj ¢SN75176BuAuapi0 OAucA - ECTV17EUES | £
SN65176B SN65176B
SN75176B SN75176B

RT RT

._Cl ro
D _C
Up to 32
Transceivers
o o e
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